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Cloze test for SBI Clerk Mains, IBPS Clerk Mains, SBI PO Pre and 

IBPS PO Pre Exams. 
Ex 77 
 

Direction: In the following passage, some of the words have been left out and replaced by a 
blank represented by a letter. First read the passage and try to understand what it is about. 
Then fill in the blanks as per the questions given. 
 

Health-conscious people in France are set to get a ____ (A) ____ from India soon with the humble 
millet set to debut on the French bakery circuit. Bakers in this European nation, known for its love of 
food, will use flours of ____ (B) ____ cereals such as finger millet (ragi), pearl millet (bajra) and proso 
millet along with wheat flour to make bread and other products. Before finding their way into French 
boulangeries, new ____ (C) ____ are normally tested and tried by the Rouen-based Laboratoire 
D’essais Des Materiels Et Produits Alimentaires (LEMPA). The French national laboratory for bakery 
and pastry products has ____ (D) ____ breads using three different millet pre-mixes supplied by a 
Bengaluru-based start-up Croitre Millet Pvt. Ltd. LEMPA now expects to ____ (E) ____ the Croitre 
Millet’s pre-mixes by recommending their usage by bakers across France, where demand for gluten-
free products is on the rise. 

 
 

1. A. 
I. Treat 
II. Delight 
III. Diversion 

A. Both I and II  B. Both II and III  C. Both I and III  D. Only III E. Only II 
 

2. B. 
I. Great 
II. Nutritive 
III. Salubrious 

A. Both II and III  B. Both I and II  C. Both I and III  D. Only III 
E. All I, II and III 
 

3. C. 
 I. Ingredients 

II. Pieces 
III. Elements 

A. Both I and II  B. Only III   C. Both I and III  D. Only II 
E. None of I, II and III 
 



 

 

4. D. 
I. Evolved 
II. Determined 
III. Terminated 

A. Both I and II  B. Both II and III  C. Only III   D. Only II 
E. None of I, II and III 
 

5.  E. 
I. Promote 
II. Endorse 
III. Advocate 

A. Both I and II  B. Both II and III  C. Both I and III  D. Only III 
E. All I, II and III 
 

Correct Answers: 

1 2 3 4 5 

A A C E E 

 
 
 
 
 
 

 

 
 
 
 
 
 
 
 

 
Join us 

www.smartkeeda.com   | https://testzone.smartkeeda.com/# 

SBI | RBI | IBPS |RRB | SSC | NIACL | EPFO | UGC NET |LIC | Railways | CLAT | RJS 

https://t.me/smartkeedaofficial
https://t.me/smartkeedaofficial
http://www.smartkeeda.com/
https://testzone.smartkeeda.com/
https://t.me/smartkeedaofficial
https://t.me/smartkeedaofficial


 

 

Explanations: 
 
1.   According to the given context of the passage it is regarding the fact that the millet from India is going 

to make its way to France and it is going to give a lot of relief to the population of that country. 
Therefore it can be considered as something that will bring joy to the minds of the French people. 
Among the given words, treat and delight can be used here to make the sentence correct. Diversion is 
not correct here since it implies distraction from something. 
 
This makes Option A the correct choice among the given options. 

 
 

2. According to the given context we can see that various cereals are going to be used by the French in 
order to make healthy and nutritious food. Among the given words we can use 
both nutritive and salubrious to fill the blank since both refer to being healthy and beneficial to health. 

  
This makes Option A the correct choice among the given options. 

 
 

3. According to the given context it is regarding the fact that all the nutrients and elements sent to the 
country are first tested for quality and then only they are made to enter the territory of the country 
without any hassle. Among the given words we can see that both ingredients and elements can fit in 
the given blank to make it grammatically and contextually correct. 

  
This makes Option C the correct choice among the given options. 

 
 

4.   According to the given context of the blank, the French people must have got some way in order to 
create breads using three different millet mixes whereas the same has been developed by a startup in 
Bengaluru. Among the given words, none of the words will be able to imply the correct meaning of the 
given context and that is why all of them can be eliminated. Evolved means progressed, 
terminated means put an end to something. 

  
This makes Option E the correct choice among the given options. 

  

 
5. According to the given context, it is regarding the fact that LEMPA is going to make sure that the millet 

mixes prepared by the Indian company are going to be used across the country. it will ensure that the 
products will be circulated throughout the country with the advertisement by the LEMPA. All the given 
words are similar in meaning and they imply the correct meaning in the given context. 
 
This makes Option E the correct choice among the given options. 
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